

TRAVELLING WAVE SOLUTIONS FOR A SURFACE WAVE EQUATION IN FLUID MECHANICS

by

Yi TIAN and Zai-Zai YAN*

College of Sciences, Inner Mongolia University of Technology, Hohhot, China

Original scientific paper
DOI: 10.2298/TSCI1603893T

This paper considers a non-linear wave equation arising in fluid mechanics. The exact traveling wave solutions of this equation are given by using G'/G-expansion method. This process can be reduced to solve a system of determining equations, which is large and difficult. To reduce this process, we used Wu elimination method. Example shows that this method is effective.

Key words: traveling wave solutions, Wu elimination method, fluid mechanics

Introduction

Recently, many powerful methods have been established and improved to seek exact solutions of non-linear evolution equations (NLEE) which describe non-linear phenomena arising in physics, mechanics, non-linear optic, and other fields. Some of these methods include auxiliary equation method [1], Clarkson-Kruskal direct method [1], modified variational iteration method [2], improved extended tg-function method [3], and so on.

In this paper, we will consider a surface wave equation [4]:

$$u_t - a_0 u_x - a_1 u u_x - a_2 u_{xxx} - b_0 u_{xx} - b_1 (u u_x)_x - b_2 u_{xxx} = 0 \quad (1)$$

which describes oscillatory Rayleigh-Marangoni instability in a liquid layer with free boundary.

The G'/G-expansion method has become widely used to search for various exact solutions of NLEE recently [5-7], the value of this method is that one treats non-linear problems by essentially linear methods. We first treat the governing eq. (1) by G'/G-expansion method, and obtain a large system of algebraic equations, which is difficult to solve, then we use Wu elimination method to solve this problem.

Application of the G'/G-expansion method for the eq. (1)

Let's assume the traveling wave solution of eq. (1) in the form:

$$u = U(\xi), \quad \xi = x - dt \quad (2)$$

where d is a arbitrary constant. Using the wave variable (2), the eq. (1) is carried to:

$$a_0 U - dU - a_1 U U - a_2 U^{(3)} - b_0 U - b_1 (U^2 - U U) - b_2 U^{(4)} = 0 \quad (3)$$

integrating eq. (3) once with respect to ξ and setting the integration constant as zero, we have:

* Corresponding author; e-mail: zz.yan@163.com

$$a_0 U - dU - \frac{a_1}{2} U^2 - b_0 U - b_1 U U' - a_2 U - b_2 U^{(3)} = 0 \quad (4)$$

suppose that the solution of the ordinary differential equation (ODE) (4) can be expressed:

$$U(\xi) = \sum_{i=0}^m c_i \left(\frac{G}{G'} \right)^i \quad (5)$$

and $G(\xi)$ satisfies a second order linear ODE:

$$G'' - \lambda G' - \mu G = 0 \quad (6)$$

where c_i are constants to be determined and $c_m \neq 0$, λ and μ are arbitrary constants, m can be determined by considering the homogeneous balance between the highest order derivative $U^{(3)}$ and non-linear term UU' appearing in (4), $m + 3 = 2m + 1$, so that $m = 2$.

We then suppose that eq. (4) has the following solutions:

$$U(\xi) = c_0 + c_1 \left(\frac{G}{G'} \right) + c_2 \left(\frac{G}{G'} \right)^2, \quad c_2 \neq 0 \quad (7)$$

where c_2 , c_1 , and c_0 are constants to be determined.

Substituting eq. (7) along with eq. (6) into eq. (4) and collecting all the terms with the same power of G'/G together, equating each coefficient to zero, yields a set of algebraic equations, which is large and difficult to solve, with the aid of MATHEMATICA and the Wu elimination method [8], we can distinguish the different cases namely:

Case (1)

$$c_0 = \frac{2(\lambda^2 a_2 - 2\mu a_2)}{a_1}, \quad c_2 = \frac{12a_2}{a_1}, \quad c_1 = \frac{12\lambda a_2}{a_1}, \quad (8)$$

$$d = a_0 - \lambda^2 a_2 - 4\mu a_2, \quad b_0 = b_1 = b_2 = 0$$

Case (2)

$$c_2 = \frac{12a_2}{a_1}, \quad c_1 = \frac{12\lambda a_2}{a_1}, \quad c_0 = \frac{12\mu a_2}{a_1}, \quad d = a_0 - \lambda^2 a_2 - 4\mu a_2, \quad b_0 = b_1 = b_2 = 0 \quad (9)$$

Case (3)

$$c_2 = \frac{12b_2}{b_1}, \quad c_1 = \frac{12(a_2 b_1 - a_1 b_2 - 5\lambda b_1 b_2)}{5b_1^2}$$

$$c_0 = \frac{6(5a_2^2 b_1 - 5a_1 a_2 b_2 - 19\lambda a_2 b_1 b_2 - 5b_0 b_1 b_2 - 19\lambda a_1 b_2^2 - 190\mu b_1 b_2^2)}{95b_1^2 b_2} \quad (10)$$

$$d = \frac{36a_2^3 b_1 - 36a_1 a_2^2 b_2 - 150a_2 b_0 b_1 b_2 - 114a_1 b_0 b_2^2 - 361a_0 b_1 b_2^2}{361b_1 b_2^2}$$

and

$$b_1 a_2^2 - 76b_1 b_2^2 \mu - 19b_1 b_2^2 \lambda^2 - a_2 b_2 a_1 - b_2 b_1 b_0 = 0,$$

$$25b_1^2 b_0 b_2 - 6b_1^2 a_2^2 - 13a_2 b_1 b_2 a_1 - 19b_2^2 a_1^2 = 0$$

Case (4)

$$\begin{aligned}
 c_2 &= \frac{12b_2}{b_1}, \quad c_1 = \frac{12(a_2b_1 - a_1b_2 - 5\lambda b_1b_2)}{5b_1^2}, \\
 c_0 &= \frac{6(5a_2^2b_1 - 5a_1a_2b_2 - 31\lambda a_2b_1b_2 - 5b_0b_1b_2 - 31\lambda a_1b_2^2 - 310\mu b_1b_2^2)}{155b_1^2b_2}, \\
 d &= \frac{36a_2^3b_1 - 36a_1a_2^2b_2 - 150a_2b_0b_1b_2 - 186a_1b_0b_2^2 - 961a_0b_1b_2^2}{961b_1b_2^2}, \\
 & b_1a_2^2 - 124b_1b_2^2\mu - 31b_1b_2^2\lambda^2 - a_2b_2a_1 - b_2b_1b_0 = 0, \\
 & 25b_1^2b_0b_2 - 6b_1^2a_2^2 - 37a_2b_1b_2a_1 - 31b_2^2a_1^2 = 0
 \end{aligned} \tag{11}$$

Case (5)

$$\begin{aligned}
 c_0 &= \frac{a_0 - a_2^3 - 6\lambda a_2^2b_2 - 6a_2b_0b_2 - 36a_0b_2^2 - 6\lambda^2a_2b_2^2 - 48\mu a_2b_2^2}{6a_2b_1b_2}, \\
 c_2 &= \frac{12b_2}{b_1}, \quad c_1 = \frac{2(a_2 - 6\lambda b_2)}{b_1}, \\
 d &= \frac{a_0 - a_2^3 - 6a_2b_0b_2 - 6\lambda^2a_2b_2^2 - 24\mu a_2b_2^2}{36b_2^2},
 \end{aligned} \tag{12}$$

and

$$\begin{aligned}
 & a_2b_1 - 6a_1b_2 = 0, \\
 & a_0^2(1 - 36b_2^2)^2 - 4a_0a_2(1 - 36b_2^2)\{2a_2^2 - 3b_2[b_0 - (\lambda^2 - 4\mu)b_2]\} \\
 & a_2^2\{a_2^4 - 36b_2^2[b_0 - (\lambda^2 - 4\mu)b_2]^2 - 12a_2^2b_2[b_0 - 4(\lambda^2 - 4\mu)b_2]\} = 0
 \end{aligned}$$

Case (6)

$$\begin{aligned}
 c_2 &= \frac{12a_2}{a_1}, \quad c_1 = \frac{12(5\lambda a_2 - b_0)}{5a_1}, \quad c_0 = \frac{6(50\mu a_2^2 - 5\lambda a_2b_0 - b_0^2)}{25a_1a_2}, \\
 d &= \frac{25a_0a_2 - 6b_0^2}{25a_2}, \text{ and } 100a_2^2\mu - 25a_2^2\lambda^2 - b_0^2 = 0, \quad b_1 = 0, \quad b_2 = 0
 \end{aligned} \tag{13}$$

Case (7)

$$\begin{aligned}
 c_2 &= \frac{12a_2}{a_1}, \quad c_1 = \frac{12(5\lambda a_2 - b_0)}{5a_1}, \quad c_0 = \frac{6(50\mu a_2^2 - 5\lambda a_2b_0 - b_0^2)}{25a_1a_2}, \\
 d &= \frac{25a_0a_2 - 6b_0^2}{25a_2}, \text{ and } 100a_2^2\mu - 25a_2^2\lambda^2 - b_0^2 = 0, \quad b_1 = b_2 = 0
 \end{aligned} \tag{14}$$

Case (8)

$$\begin{aligned}
 c_2 &= \frac{12b_2}{b_1}, \quad c_1 = \frac{12(a_2 - 5\lambda b_2)}{5b_1}, \quad c_0 = \frac{6\lambda a_2 - 5b_0 - 60\mu b_2}{5b_1}, \\
 d &= a_0, \text{ and } a_2^2 - 100b_2^2\mu - 25b_2^2\lambda^2 = 0, \quad a_1 = 0
 \end{aligned} \tag{15}$$

Case (9)

$$c_2 = \frac{12b_2}{b_1}, \quad c_1 = \frac{12\lambda b_2}{b_1}, \quad c_0 = \frac{b_0 - \lambda^2b_2 - 8\mu b_2}{b_1}, \quad d = a_0, \quad a_1 = a_2 = 0 \tag{16}$$

Using the previous results, we can obtain nine families of travelling wave solutions, we just give two families of these solutions due to the limit of length, other families of solutions can be obtained in the same way.

Consider *Case (1)*, substituting (8) into (7), we obtain:

$$U(\xi) = \frac{2(\lambda^2 a_2 - 2\mu a_2)}{a_1} \frac{12\lambda a_2}{a_1} \frac{G}{G} \frac{12a_2}{a_1} \frac{G}{G}^2, \quad (17)$$

$$\xi = x - (a_0 - \lambda^2 a_2 + 4\mu a_2)t$$

substituting the general solutions of eq. (6) into eq. (17), we can obtain solutions of eq. (1):

– When $\lambda^2 - 4\mu > 0$,

$$u(\xi) = \frac{12\lambda \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2}{a_1} + \frac{12 \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2^2}{a_1}$$

$$+ \frac{2(\lambda^2 a_2 - 2\mu a_2)}{a_1}$$

where $\xi = x - (a_0 - \lambda^2 a_2 + 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

– When $\lambda^2 - 4\mu < 0$,

$$u(\xi) = \frac{12\lambda \frac{\lambda}{2} \frac{\sqrt{-\lambda^2 - 4\mu} c_2 \cos \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu} - c_1 \sin \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu}}{2 c_1 \cos \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu} - c_2 \sin \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu}} a_2}{a_1} + \frac{12 \frac{\lambda}{2} \frac{\sqrt{-\lambda^2 - 4\mu} c_2 \cos \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu} - c_1 \sin \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu}}{2 c_1 \cos \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu} - c_2 \sin \frac{1}{2} \xi \sqrt{-\lambda^2 - 4\mu}} a_2^2}{a_1}$$

$$+ \frac{2(\lambda^2 a_2 - 2\mu a_2)}{a_1}$$

where $\xi = x - (a_0 - \lambda^2 a_2 + 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

– When $\lambda^2 - 4\mu = 0$,

$$u(\xi) = \frac{6\lambda[c_1\lambda - c_2(2 - \xi\lambda)]a_2}{(c_1 - c_2\xi)a_1} - \frac{3[c_1\lambda - c_2(2 - \xi\lambda)]^2 a_2}{(c_1 - c_2\xi)^2 a_1} - \frac{2(\lambda^2 a_2 - 2\mu a_2)}{a_1}$$

where $\xi = x - (a_0 - \lambda^2 a_2 + 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

Consider *Case (2)*, similar on *Case (1)*, we can obtain three types of traveling wave solutions of eq. (1):

– When $\lambda^2 - 4\mu > 0$,

$$u(\xi) = \frac{12\mu a_2}{a_1} - \frac{12\lambda \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2}{a_1} + \frac{12 \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cosh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sinh \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2}{a_1^2}$$

where $\xi = x - (a_0 + \lambda^2 a_2 - 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

– When $\lambda^2 - 4\mu < 0$,

$$u(\xi) = \frac{12\mu a_2}{a_1} - \frac{12\lambda \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cos \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sin \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cos \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sin \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2}{a_1} + \frac{12 \frac{\lambda}{2} \frac{\sqrt{\lambda^2 - 4\mu} c_2 \cos \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_1 \sin \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}}{2 c_1 \cos \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu} - c_2 \sin \frac{1}{2} \xi \sqrt{\lambda^2 - 4\mu}} a_2}{a_1^2}$$

where $\xi = x - (a_0 + \lambda^2 a_2 - 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

– When $\lambda^2 - 4\mu = 0$,

$$u(\xi) = \frac{6\lambda[c_1\lambda - c_2(2 - \xi\lambda)]a_2}{(c_1 - c_2\xi)a_1} - \frac{3[c_1\lambda - c_2(2 - \xi\lambda)]^2 a_2}{(c_1 - c_2\xi)^2 a_1} - \frac{12\mu a_2}{a_1}$$

where $\xi = x - (a_0 + \lambda^2 a_2 - 4\mu a_2)t$ and c_1 and c_2 are arbitrary constants.

Conclusion

In this paper, we use G'/G -expansion method to solve a wave equation arising in fluid mechanics, this process can be reduced to solve a large system of algebraic equations, which is hard to solve, then we use Wu elimination method to solve the algebraic equations. The results show that we get more and general solutions than [4, 9, 10].

Acknowledgment

The work is supported by the Joint Specialized Research Fund for the Doctoral Program of Higher Education, Inner Mongolia Education Department (20131514110005). The author would like to express sincerely thanks to teacher Lixia Zheng, College of Sciences, Inner Mongolia University of Technology for the help of teaching me the (G'/G) -expansion method.

References

- [1] Ma, H. C., et al., Lie Symmetry Group of (2+1)-Dimensional Jaulent-Miodek Equation, *Thermal Science*, 18 (2014), 5, pp. 1547-1552
- [2] Lu, J. F., Modified Variational Iteration Method for Variant Bousinesq Equation, *Thermal Science*, 19 (2015), 4, pp. 1195-1199
- [3] Cui, L. X., et al., New Exact Solutions of Fractional Hirota-Satsuma Coupled Korteweg-de Vries Equations, *Thermal Science*, 19 (2015), 4, pp. 1173-1176
- [4] Pornbov, A. V., Exact Travelling Wave Solutions of Nonlinear Evolution Equation of Surface Waves in a Convecting Fluid, *Journal of Physics A-Mathematical and General*, 26 (1993), 17, pp. L797-L800
- [5] Parkes, E. J., Comment on "Application of (G'/G) -Expansion Method to Travelling-Wave Solutions of Three Nonlinear Evolution Equation" [Comput Fluids 2010;39:1957-63], *Computers & Fluids*, 42 (2011), 1, pp. 108-109
- [6] Zhang, Z., et al., The Modified Multiple (G'/G) -Expansion Method and its Application to Sharma-Tasso-Olver Equation, *Pramana-Journal of Physics*, 83 (2014), 1, pp. 95-105
- [7] Sayevand, K., et al., Finding the Generalized Solitary Wave Solutions within the (G'/G) -Expansion Method, *Cmes-Computer Modeling in Engineering & Sciences*, 105 (2015), 5, pp. 361-373
- [8] Wu, W. T., *Mathematics Mechanization*, Science Press, Beijing, 2000
- [9] Hu, J. L., et al., Exact Traveling Wave Solutions for a Nonlinear Wave Equation in Fluid Mechanics (in Chinese), *Journal of Jishou University (Natural Science Edition)*, 21 (2000), 2, pp. 32-35
- [10] Sirendaoreji, N., Exact Solutions for a Surface Wave Equation, *Applied Mathematics. Series B, A Journal of Chinese Universities*, 16 (2001), 1, pp. 19-24